v

©

FRESCA

FVN8058

ALTO

INSTALLATION GUIDE

CONTENTS:

Cabinet (FCB8058) PAGE 3
Sink (FVS8058) PAGE 3

Medicine Cabinet (FMC8058) PAGE 4



FVN8058 ¢

ALTO ©

INSTALLATION GUIDE FRESCA

Medicine Cabinet

7 E i

26"

Y%

<

Vanity Front Vanity Back

G

18 1/4"
\ »
25"

/>

221/2"

<

Neai=l ALL DIMENSIONS & SPECIFICATIONS ARE APPROXIMATE AND SUBJECT TO CHANGE WITHOUT NOTICE.

@ FVN8058 A | [(O INSTALLATION GUIDE W PAGE 1

©2017 FRESCA™ All rights reserved. This material may not be reproduced, displayed, modified or distributed without the express prior written permission of the copyright holder.

/ 45/8"




TOOLS FOR ASSEMBLY
< SV

1/8" Drill Bit

Side Mirror

Side Bracket

Medicine
Cabinet
N o
Anchor n—\ S
) / h
Mounting :
Bracket
(Top)
N
AN
Anchor \ / ~ \
Mounting >
Bracket
(Bottom) \

(G)
@ prrriiiiinees

#8 x 1-3/8" Flat Head Screw

\Ejﬁ < Cabinet

NOTE: Only use

anchors (J) if stud
(2"x4" frame) is not Wall
available. Bracket

@ FVN8058 A | [(O INSTALLATION GUIDE W PAGE 2

©2017 FRESCA™ All rights reserved. This material may not be reproduced, displayed, modified or distributed without the express prior written permission of the copyright holder.




1 | Locate cabinet (C) & mark location 2 Install wall brackets (J)

IMPORTANT: Consult an expert for the
proper screws/bolts to use when
attaching to various wall constructions.
Screws provided do not attach to all wall
construction types.

TR

(G) |

@ purruny

)

#8 x 1-3/8" Flat Head Screw 2

.
e -
28" to 32"
l"""'

Y

3 | Apply silicone and install cabinet (F) 4 Apply silicone and install sink (E)

® FVN8058 /.| T INSTALLATION GUIDE w PAGE 3

©2017 FRESCA™ All rights reserved. This material may not be reproduced, displayed, modified or distributed without the express prior written permission of the copyright holder.




MEDICINE CABINET INSTALLATION

Install side brackets (B) Install side mirrors (C)

5 Install cabinet (A) (G)
_I [@ b\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\u\»

#8 x 1-3/8" Flat Head Screw

4 | Install bottom bracket (K)

NOTE: Consult an expert for the
proper screws/bolts to use when
attaching to various constructions.
Screws provided do not attach to
all wall construction types.

©)
[@ )n\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\‘\-\.

#8 x 1-3/8" Flat Head Screw

S

® FVN8058 /| [O INSTALLATION GUIDE | PAGE 4

©2017 FRESCA™ All rights reserved. This material may not be reproduced, displayed, modified or distributed without the express prior written permission of the copyright holder.




P-TRAP & POP-UP
INSTALLATION INSTRUCTIONS

Your item may appear slightly different from the illustration.

MOUNTING S
RING

POP-UP

\___FORSINKS 4
WITHOUT OVERFLOW

DRAIN > L
PIPE > '
TAIL
g PIPE
MOUNTING i
RING 2 ;
RUBBER
WASHER S
CLEANOUT m/@
PLUG

SILICONE
WASHER

SILICONE
WASHER 2

BRASS
NUT

RUBBER
WASHER

RUBBER
WASHER 2

P-TRAP

RUBBER
WASHER 3

INSTALLATION

| ___FORSINKS __J
WITH OVERFLOW

® FVN8058 /\[ O INSTALLATION GUIDE |

PAGE 5

©2017 FRESCA™ All rights reserved. This material may not be reproduced, displayed, modified or distributed without the express prior written permission of the copyright holder.




P-TRAP INSTALLATION

1. | Install tail pipe (G).

2. | Install P-trap (J).

PAGE ©

©2017 FRESCA™ All rights reserved. This material may not be reproduced, displayed, modified or distributed without the express prior written permission of the copyright holder.



